HTA A O (GHEA)

Ek27E3/1BRTE

B 4 =8 &t B 4 2 & &t
AEZEHT 0 0 0 | = RiHT 0 3 3
KIZRHET 125 143 268 |H#KET 7 7 14
3 SHET 3 0 3 |/EHT 2 4 6
=AHT 142 187 329 |FLILHET 6 1 17
=&idtE 62 86 148 |1 EHT 1 0 1
SE AT 4 2 6 |[#ARHET 5 4 9
= [ ET 31 54 85 |&HT 2 4 6
FFFHET 0 2 2 |SRHT 10 20 30
KA HT 9 25 34 |ta[RHET 0 0 0
SEEHT 7 10 17 |1 &HT 196 202 398
i AHT 0 0 0 |7iBHT 0 1 1
4./ $ERET 12 16 28 |G HT 28 56 84
FE+EHET 6 3 9 | EHT 81 80 161
HrHHZET 0 1 1 |;EHT 0 0 0
S ERHET 1 9 10 |—&HT 1 2 3
YiE A BT 1 3 4 |&HT 21 25 46
Hr HHET 3 1 4 |2 IRET 102 188 290
AN 0 20 20 |74 ;iHT 7 35 42
R AAHET 18 29 47
AHT 5 6 1
| ARHT 0 1 1
FR LA HT 4 9 13
JUHET 7 5 12
E AT 4 7 1
fHsEHT 18 14 32| & 3 931 1,275 2,206




